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QUESTION 1

Which of the following git commands is used to manage files in a repository? (Choose two correct answers.)
A.gitrm

B. gitcp

C. gitmv

D. git move

E. git copy

Correct Answer: AC

QUESTION 2

Which sections can exist in a Logstash configuration file? (Choose three correct answers.)
A. output

B. filter

C. input

D. forward

E. generate

Correct Answer: ABC

https://www.elastic.co/guide/en/logstash/current/configuration-file-structure.html

QUESTION 3

Which of the following values would be valid in the FROM statement in a Dockerfile?
A. file: /tmp/ubuntu/Dockerfile

B. registry:ubuntu:xenial

C. docker://ubuntu:xenial

D. ubuntu:xenial

E. http://docker.example.com/images/ubuntu-xenial.iso

Correct Answer: D
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QUESTION 4

What implications does container virtualization have for DevOps? (Choose two answers.)
A. Containers decouple the packaging of an application from its infrastructure.

B. Containers require developers to have detailed knowledge of their IT infrastructure.

C. Containers let developers test their software under production conditions.

D. Containers complicate the deployment of software and require early deployment tests.
E. Containers require application specific adjustment to the container platform.

Correct Answer: AC

http://anandmanisankar.com/posts/container-docker-PaaS-microservices/

QUESTION 5

In order to execute one step of a declarative Jenkins pipeline on a Jenkins node with a specific set of labels, which
element has to be present in the respective stage?

A. server
B. executor
C. slave

D. agent

E. selector

Correct Answer: D
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